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Reg. No. : .....................................  Code No. 5022 

Name : ........................................   
   
  Time : 2  Hours 
  Cool-off time : 15 Minutes 

 

Part – III 

GEOLOGY 
Maximum : 60 Scores 

 
 

General Instructions to Candidates : 
• There is a ‘cool-off time’ of 15 minutes in addition to the writing time of 2 hrs. 
• You are not allowed to write your answers nor to discuss anything with others 

during the ‘cool-off time’. 
• Use the ‘cool-off time’ to get familiar with questions and to plan your answers. 
• Read questions carefully before answering. 
• All questions are compulsory and only internal choice is allowed. 
• When you select a question, all the sub-questions must be answered from the same 

question itself. 
• Calculations, figures and graphs should be shown in the answer sheet itself. 
• Malayalam version of the questions is also provided. 
• Give equations wherever necessary. 
• Electronic devices except non-programmable calculators are not allowed in the 

Examination Hall. 
œ°Ü¶Í«Äà : 

• œ°ÜÍ°û Ÿ£¤Ì°œ ̧ã²¦µ£ 15 £°œ°Ý̧ ‘‰³à ˆ¯ý ̧µµ“¹’ „Ê¯¤°¥°¾²¹.  ƒ· 
Ÿ£¤Ì ̧¶ü¯š»Äà¾¸ „Ì¥¹ †©²˜¯¶œ¯, £Ý²¨¨ª¥²£¯¤° ‚«¤ª°œ°£¤¹ 
œ“Ì¯¶œ¯ ã¯“°ß. 

• „Ì¥Äà †©²˜²Ò˜°œ ̧£²Ø¸ ¶ü¯š»Äà ½«Î¯ã³Üâ¹ ª¯¤°¾—¹. 

• †ß¯ ¶ü¯š»Äà¾²¹ „Ì¥¹ †©²˜—¹. 

• ˆ¥² ¶ü¯š»œØÜ „Ì¥µ£©²˜¯Ï µ˜¥µÇ“²Ì² ‰©°Ç¯Þ 
„ã¶ü¯š»Ä¨²¹ ¿¶˜ ¶ü¯š»œØ¥°Þ œ°Ò¸ ˜µÒ µ˜¥µÇ“²¶¾Ê˜¯—.̧ 

• ‰—¾¸ ‰³È§²‰à, ü°½˜Äà, ½‹¯ý²‰à †Ò°ª „Ì¥¶ãÔ¦°Þ ˜µÒ 
„Ê¯¤°¥°¾—¹. 

• ¶ü¯š»Äà £§¤¯¨Ì°§²¹ œÞ‰°¤°È²Ê.̧ 

• ‚ª«»£²á ð§Ì ̧Ÿ£ª¯‰»Äà µ‰¯“²¾—¹. 

• ¶½ã¯½‹¯£²‰à µüÛ¯œ¯‰¯Ì ‰¯Þ¾²¶§Ý¦²‰à ˆ©°µ‰¤²á ˆ¥² 
ƒ§‰¶̧½“¯—°‰¸ „ã‰¥—ª²¹ ã¥±À¯®¯¨°Þ „ã¶¤¯‹°¾²ª¯Ï ã¯“°ß. 
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1. Among the three rocks given below, which important type of rock is missing ? 

 (a) Granite  
 (b) Shale 
 (c) Sandstone   (Score : 1) 
 
2. Mention the factors that help metamorphism of rocks. (Score : 1) 
 
3. Match correctly the contents of table A with that of tables B and C.  

A B C  
Sandstone Granulitic Mafic  
Gabbro Arenaceous Calcitic  
Marble Holocrystalline Quartzose  (Scores : 1½) 

 
4. (A) (a) What are sedimentary rocks and how are they formed ? 
  (b) Give a classification of sedimentary rocks based on grain size and 

processes of formation.   (Scores : 2 + 3 = 5) 
OR 

 (B) (a) What are igneous rocks and how are they formed ? 
  (b) Draw the rock cycle and explain it.  (Scores : 2 + 3 = 5) 
 
5. Match the contents of column A with that of B and C :  

A B C  
Magnesite Pencil CuFeS2  

Chalcopyrite Refractory C  
Graphite Electric wires MgCO3 (Scores : 1½) 

 
6. Define the following type of mineral deposits, giving an example for each : 
 (a) Magmatic concentration 
 (b) Hydrothermal 
 (c) Sedimentary   (Scores : 3) 
 
7. (a) What is meant by residual concentration ?   
 (b) Define placer minerals and describe the different types of placer deposits.  
      (Scores : 2 + 3 = 5) 
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1. ˜¯µ© µ‰¯“²Ì°¥°¾²Ò «°§‰¨°Þ ‡˜ ̧½ã›¯œ ª°¢¯‹Ì°§²á˜¯—̧ ƒß¯Ì˜̧  ? 
 (a) ½‹¯µµœÝ¸  
 (b) ¶¬Þ 
 (c) Ÿ¯ú ¶̧è¯É   (Ÿ¶̧‰¯Ü : 1) 
 
2. ‰¯¤¯Ð¥ «°§¯¥³ã±‰¥—µÌ Ÿ®¯¤°¾²Ò Œ“‰Äà †µÐ¯µ¾¤¯µ—Ò̧ 

Ÿ³ü°Ô°¾²‰.   (Ÿ¶̧‰¯Ü : 1) 
 
3. ‰¨¹ A-¤°Þ „áªµ¤ ‰¨Äà B,  C †Ò°ª¤°Þ „á˜²£¯¤° «¥°¤¯¹ª°›¹ 

¶üÜ¾²‰.     
A B C 

Ÿ¯ú ¸¶è¯É ½‹¯œ²§°Ý°‰¸ £¯ý°‰¸ 
‹¯¶½¡¯ ¿¥°¶œ¬»Ÿ¸ ‰¯ÞŸ°Ý°‰¸ 
£¯Ü¡°à ¶®¯¶¨¯½‰°èµµ§Ï ‰¼¯Ü“¶̧Ÿ¯Ÿ¸ 

      (Ÿ¶̧‰¯ÜŸ̧ : 1½) 
 
4. (A) (a) ¿ªŸ¯š «°§‰à †Ò¯µ§Ð¯µ—Ò²¹ †Äµœ¤¯—̧ ¿ª ¥³ã¯-

Ð¥µÔ“²Òµ˜Ò²¹ †©²˜²‰ ? 
  (b) ˜¥°‰¨²µ“ ª§²Ô¹, ¥³ã±‰¥— ½ã½‰°¤‰à †Ò°ªµ¤ 

¿“°ð¯œ£¯¾° ¿ªŸ¯š «°§‰µ¨ ˜¥¹ ˜°¥°¾²‰. 
      (Ÿ¶̧‰¯ÜŸ̧ : 2 + 3 = 5) 

¿µßÃ°Þ 
 (B) (a) ‚‹¶̧œ¤ «°§‰à †Ò¯Þ †Ð¯— ̧ ? †Äµœ¤¯—̧ ¿ª ¥³ã¹ 

µ‰¯á²Ò˜̧ ? 
  (b) «°§¯ü½‰¹ ª¥Å¸ ¿˜°µœ ª°ª¥°¾²‰. (Ÿ¶̧‰¯ÜŸ̧ : 2 + 3 = 5) 
 
5. ‰¨¹ A-¤°Þ „áªµ¤ ‰¨Äà B, C †Ò°ª¤°Þ „á˜²£¯¤° ¤™¯ª°›¹ ¶üÜ¾²‰.  

A B C  
£¯‹œ̧µµŸÝ¸ µãÏŸ°Þ CuFeS2  

ü¯Þ¶‰¯µµãµµ¦Ý¸ ¦°ý¦̧¯ê¦° C  
½‹¯µµýÝ¸ µµªš»²˜ ‰Ø°‰à MgCO3 (Ÿ¶̧‰¯ÜŸ̧ : 1½) 

       
6. „š¯®¥— Ÿ®°˜¹ µ‰¯“²Ì°¥°¾²Ò ›¯˜² œ°¶ÀãÄµ¨ œ°Üâü°¾²‰ : 
 (a) £¯‹£̧¯Ý°‰ ̧¶‰¯ÉŸÏ¶½“¬Ï 
 (b) µµ®¶½•¯µ˜Ü£Þ 
 (c) µŸ•°µ£ú¦°   (Ÿ¶̧‰¯ÜŸ̧ : 3) 
 
7. (a) µ¦Ÿ°×¼Þ ¶‰¯ÉŸÏ¶½“¬Ï †Ò¯µ§Ð¯— ̧ ?   
 (b) ¶ãÿŸÜ ›¯˜² †Ð¯µ—Ò¸ œ°Üâü°¾²‰¤²¹ ª°ª°› ˜¥¹ ¶ãÿŸÜ 

œ°¶ÀãÄµ¨ ª°ª¥°¾²‰¤²¹ µüÛ²‰. (Ÿ¶̧‰¯ÜŸ̧ : 2 + 3 = 5) 
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8. Among the following which is a renewable source of energy ?  

 (a) Petroleum 

 (b) Coal bed methane 

 (c) Geothermal energy 

 (d) Natural gas   (Score : 1) 

 

9. Give your suggestions for mitigating the environmental impacts due to consumption 
of coal and petroleum.   (Scores : 2) 

 

10. Explain your idea on the origin of coal.   (Scores : 2) 

 

11. A group of geology students measured the dip of a bed, using a clinometers, along 
different directions. Which among the following could be the true dip ?  

 (a) 25°  (b) 28° 

 (c) 24°  (d) 30° (Score : 1) 

 

12. (a) Present a classification of important fold types, with the help of diagrams. 

 (b) Draw the main type of unconformities and explain them. (Scores : 3 + 3 = 6) 

 

13. How do fossils help a geologist ?   (Scores : 2) 

 

14. What is saline water intrusion ? How is it caused ? (Scores : 3) 

 

15. Write a short note on the impacts of mining.  (Scores : 2) 

 

16. (a) Describe the seismic belts of the world.  (Scores : 4) 

         OR 

 (b) (i) What are the effects of earthquake ? 

  (ii) Compare the two different scales for measuring an earthquake.  

      (Scores : 1 + 3 = 4) 
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8. µ‰¯“²Ì°¥°¾²Òª¤°Þ ã²œÜ ü¹½‰£—¹ µüÛµÔ“¯ª²Ò „·Üî ¶½Ÿ¯˜æ¸ 

‡˜¯—̧ ?  
 (a) µã¶½“¯¨°¤¹ 
 (b) ¶‰¯à µ¡•¸ £±¶˜Ï 
 (c) ¢³‹Ü¢ ˜¯¶ã¯Üî¹ 
 (d) ½ã‰´˜° ª¯˜‰¹   (Ÿ¶̧‰¯Ü : 1) 
 
9. ‰Þ¾¥°, µã¶½“¯¨°¤¹ ˜²“Ä°¤ª¤²µ“ „ã¶¢¯‹¹ £³§£²Ê¯‰²Ò ã¯¥°-

ð°˜°‰¯Œ¯˜µÌ ˜“¤²ª¯œ²á œ°Ü¶Í«Äà œÞ‰²‰. (Ÿ¶̧‰¯ÜŸ̧ : 2) 
 
10. ‰Þ¾¥°¤²µ“ „óªµÌ¾²¦°Å¸ œ°Ä¨²µ“ ¿¦°ª ̧ª»ø£¯¾²‰. 

      (Ÿ¶̧‰¯ÜŸ̧ : 2) 
 
11. ˆ¥²‰³È¹ ×°¶¤¯¨×° ª°š»¯Ü˜̧™°‰à, ª°ª°› š°«‰¨°¶§¾ ̧ˆ¥² µ¡•°µú •°Ô,̧ 

µµ‰ÿ¶œ¯£±ÝÜ „ã¶¤¯‹°Å ̧ ¿¨Ò². µ‰¯“²Ì°¥°¾²Òª¤°Þ ‡˜¯¤°¥°¾¯¹ 

¤™¯Ü˜̧™ •°ã¸ ?  
 (a) 25°  (b) 28° 
 (c) 24°  (d) 30° (Ÿ¶̧‰¯Ü : 1) 
 
12. (a) ü°½˜Ä¨²µ“ Ÿ®¯¤¶Ì¯µ“ ½ã›¯œ ˜¥¹ ¶ý¯à•²‰µ¨ ˜¥¹ ˜°¥°¾²‰. 
 (b) ½ã›¯œ ˜¥¹ ¿É‰ÉýÜ£°Ý°‰¨²µ“ ü°½˜¹ ª¥Å ̧¿ªµ¤ ª°ª¥°¾²‰. 

      (Ÿ¶̧‰¯ÜŸ̧ : 3 + 3 = 6) 
 
13. ¶ý¯Ÿ°§²‰à †Äµœ¤¯— ̧ˆ¥² ×°¶¤¯¨×°è°œ ̧Ÿ®¯¤‰¥£¯‰²Ò˜̧  ? 
      (Ÿ¶̧‰¯ÜŸ̧ : 2) 
 
14. ‘§ª—×§ ¿›°œ°¶ª«¹’ †Ò¯µ§Ð¯—̧ ? †Äµœ¤¯—̧ ¿˜ ̧Ÿ¹¢ª°¾²Ò˜̧ ?  
      (Ÿ¶̧‰¯ÜŸ̧ : 3) 
 
15. Šœœ¹ £³§£²Ê¯‰²Ò ã¯¥°ð°˜°‰¯Œ¯˜Äµ¨ ‰²¦°Å ̧ ˆ¥² ‰²¦°Ô ̧

˜Û¯¦¯¾²‰.   (Ÿ¶̧‰¯ÜŸ̧ : 2) 
 
16. (a) ¶§¯‰Ì°µ§ Ÿ°Ÿ£̧°‰¸ ¶£Š§‰µ¨¾²¦°Å¸ ª°ª¥°¾²‰. (Ÿ¶̧‰¯ÜŸ̧ : 4) 
                      ¿µßÃ°Þ 
 (b) (i) ¢³‰ØÌ°µú ã¥°—˜ ý§Äà †µÐß¯£¯—¸ ? 
  (ii) ¢³‰ØµÌ ¿¨¾²Ò˜°œ²á ¥Ê²˜¥¹ ¿¨ª²¶‰¯§²‰µ¨ ˜¯¥˜£»¹ 

µüÛ²‰.   (Ÿ¶̧‰¯ÜŸ̧ : 1 + 3 = 4) 
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17. Distinguish relative and absolute dating.   (Scores : 2) 
 

18. Describe three principles in stratigraphy which is the contribution of Nicholaus Steno.  

      (Scores : 3) 

 

19. Define the four components in disaster management cycle. (Scores : 3) 

 

20.  (a) (i) What are the causes of a landslide ? 

  (ii) How will you prevent a landslide ?  (Scores : 3 + 3 = 6) 

                     OR 

 (b) (i) Define coastal erosion. 

  (ii) Suggest different options for mitigating this problem. (Scores : 1 + 5 = 6) 

 

21. Distinguish oil shale from tar sand.   (Score : 1) 

 

22. What are the causes of ground water pollution ? (Scores : 2) 

 

23. A device used to measure earthquake  

 (a) Geophone (b) Seismogram 

 (c) Seismograph (d) Sonogram (Score : 1) 

 

24. Among the following which is not an important green house gas ? 

 (a) CH3  (b) CFCs 

 (c) CO2  (d) O3 (Score : 1)  

________ 



5022  7 P.T.O.  

17. ‘¦°¶§Ý±ª¸’, ‘¿¡µ̧Ÿ¯§»³È’̧ †Ò± ¶•Ý°¹‹¸ ¥±˜°‰µ¨ ˜¥¹ ˜°¥°µÅ©²˜²‰. 

      (Ÿ¶̧‰¯ÜŸ̧ : 2) 

 

18. œ°¶¾¯¨Ÿ ̧ µè¶œ¯, Ÿ½̧“¯Ý°½‹¯ý°¾ ̧ œÞ‰°¤°È²á £³Ò ̧ ˜˜¼Äµ¨¾²¦°Å¸ 

ª°ª¥°¾²‰.   (Ÿ¶̧‰¯ÜŸ̧ : 3) 

 

19. š²¥Ð œ°ª¯¥— ü½‰Ì°µ§ œ¯§ ̧Œ“‰Äµ¨ œ°Üâü°¾²‰. (Ÿ¶̧‰¯ÜŸ̧ : 3) 

 

20.  (a) (i) „¥²à µã¯È²ª¯œ²á ‰¯¥—Äà †µÐ¯µ¾¤¯— ̧? 

  (ii) „¥²à µã¯È²Ò˜°µœ ˜“¤²Òµ˜Äµœ¤¯—̧ ? (Ÿ¶̧‰¯ÜŸ̧ : 3 + 3 = 6) 
¿µßÃ°Þ 

 (b) (i) ‰“§¯½‰£—¹ †µÐÒ¸ œ°Üâü°¾²‰. 

  (ii) ƒ· ½ã«œ̧µÌ ˜“¤²ª¯œ²á ª°ª°› £¯ÜÁÄà œ°Ü¶Í«°¾²‰. 

      (Ÿ¶̧‰¯ÜŸ̧ : 1 + 5 = 6) 

 

21. ˆ¯¤°Þ ¶¬Þ, “¯Ü Ÿ¯ú   ̧†Ò°ªµ¤ ¶ªÜ˜°¥°µÅ©²˜²‰. (Ÿ¶̧‰¯Ü : 1) 

 

22. ¢³‹Ü¢ ×§ £§°œ±‰¥—Ì°µú ‰¯¥—Äà †µÐ¯µ¾¤¯—̧ ? (Ÿ¶̧‰¯ÜŸ̧ : 2) 

 

23. ¢³‰ØµÌ ¿¨¾²ª¯œ²á ˆ¥² „ã‰¥—¹   

 (a) ×°¶¤¯¶ý¯É (b) Ÿ°Ÿ¶̧£¯½‹¯¹ 

 (c) Ÿ°Ÿ¶̧£¯½‹¯ý¸ (d) ¶Ÿ¯¶—¯½‹¯¹ (Ÿ¶̧‰¯Ü : 1) 

 

24. ƒª¤°Þ ½ã›¯œ£ß¯Ì ˆ¥² ®¥°˜‹´®ª¯˜‰¹ ? 

 (a) CH3  (b) CFCs 

 (c) CO2  (d) O3 (Ÿ¶̧‰¯Ü : 1)  

________ 



5022 8  

 


